a(d cot(B))

a(6 @) (rad)
5

10741

102

1072

o _....l....!....l. ...!.... 910‘_—_:2:....|....l....l....!....l....
g 121 gl - SRR = R R ISIaE
x : e ME :
X : E L g ML L
1H|$- - - b 15 1
L : : : d : 0.9 : : :
0832 1 0 1 2 3 83> 1 0 T 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_TT__ORIGINAL
—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2

~ 1 T
€ [ S [:
e C: e C:
=~ [ ~ F
s o ]
5 ] 5
107*H : 107H
? Il
.910—2-||||||||||||||i|||||||||||||| .910—2_||||||||||||||i|||||||||||||
T 12 7 T 12[ :
04 [ o o ]
]_E‘Nn-- ] - fe 1:_- y 1 1T T
r : ] ] ] i 0.8F{1- T F--TE-HT tHE A0 EEE T e AL
83 o1 0 1 2 3 -3 2 -1 0 1 2 3

TP n (PCA: to beamline) TP n (PCA to beamline)

1072
15

10

ol
(14

0o 1 2 3
TP n (PCA to beamline)

|
w]
Nop= e
|
i



	Contents
	Page 1


